@ (-1)?x (-1)* = (-1)*** = (-1)°
@ 32x3% =313 =35

® (-2)x(-2)* = (=2)'"* = (-2)*
® (-3)2x (-3) =32+ =3°




2.

xx xt xy° x y& 7Fs] oY

@ X4y6 @ x5y5 @x5y6

xTx sl = x5y6 o] B2 x5)6 o]},




3. dBPxdbt =a%0 Q[ tol Qe 2 AR 2 AL?

@ 15,12 @8,8 ® 9,7 @ 5,11 ® 11,7

~&B

a®b? x a®b® = a3 x b? x a® x b8
= a3 xa® xb® x b
— 315 x p2+6

— aSh8




4. 32x(3%)? =39 o], x] gt otoiek
=

>
[> o= 8

oH .

32x(3%)2 =32x 36 =3%0]B& x=8o|t},




@ x14 @ x16 @x18 @ x20

® 2

x18

3X2 5 (AX3 16 5 (12

(x3)2 X (x4)3




a’ x b3*? = a’p°

@ (03)2 % (b?’) — a6b3

@(a2)2 x (a3)?

P2 x a2 = A x @b = a®P = ¢20

@ (x3)2 X (y2)3 — X6y6

=)
<
[a\}

S
Il
[a\}

&

o
=
X ©
o R
S|
__)

[22]
a ‘o
B X
(2
s S




A57F00
N |H 2ot ¥
[ |8 a 5_]"?3]4 o

ab =
B ‘:' — b3

£,

o] 17 5
2 F 1ot




toizt.

S

T

N

T

7.
a’ =+ (a*xa®)&

e

ull




D e ea
® a+a+a+a=4a

@ aXaXaXa:a4




@ x14y16




@x12y6

@ x%3 @ 7y @ x8y0

D x4

{(—x2y)3}2: (—x6y3)2 _ x12y6




12.

= = ", a-— ° !
(4x9)? = 64215 D 0], @ — b 9] FHE2

(4x0)b — 4byab — 43,15 0] B p— 3 gh = 15 O]k,
2t a=59°B2 g-b=5-3 =2 o|t}




B2\ (P!
7 (%) - (&)
L o0=4
. o=4

a: 0-3=1
b: 0-2=2




@ (a2b2)2 — a4b4 @ (a3b)2 — a6b2

0 (2)-(5) Do

(a2b?)? = a®2b><2 = q'p?
2




ol
™
ol
o8

olig
Njo

oln




3
16. (L) =% 9 ha+o o g Ftolel

a y6
> =
> d®E 14

x4 3 2 ¥
(5) = =solm=sa=s
wabA g =2 °]1 p = 12 ot}
La+b=2+12=14




® (a2) = a® = a'b?

@3 92—35.(32)

=3




18. the % A4 A} oA Yt B SHE? (Fa#0.b#0)

@ a*xa*xa @a18+a2
® (a®) +db @ (b2 = (b)?
® ()

0,0,®,® : a°

@:6116




19. =4 %2 A

£9

r{o

@ (ab)? x ab = a®b®

@ (a®b) b= 2—2
@) (-2a)? x (2b)? = aig — 162
3 51,3
@ (g)QX(azbZ - a3l27 .
® (5)+ (5) ==

@ (ab)? x ab = a*b* x ab = a*1b*T! = a3b3
2 a2 8

22
@ (a’p) X X1 = a®h? x pr A2 p2

1
® (=2a)* x (2b)* + — = 4a® x 4b* x a® = 16a"b?
a

a\? ab)3 @ @b aPb?
@(§> X(? S

a\? (1 2 2712 a? 2. 472 bt
®(Z> _<E) X(ab) —EXb X a*b —F




20. 4238248 L5 =gt
@ 3d? x 4a® = 124° © 124°% + 442 = 343
© (-2x3y)? = —4x5y? @ (2a%)% = 6a°
2
@ (-2x)*+8x% = 2
> £
» =
> HEED 9
> HE: @
1248
© 1245 = 4a2 = =4 3at
4a?

© (-2x%)% = (-2)% x (x%)?%y? = 4x%?
@ (242)3 = 23 x (a?)® = 8aS




21. E=slk=s 5
3°
_|_
3°
+
3
=3
741: 1
A&
o=
7t
3] U
o] Bt
™
9

@
33
0%
®
39
@
312
®
315

3+
3+
35
3x3° =
36




22. 5"+ 5%+ 5% 4+ 5% + 5¥-& 7+s| YERHE?

©5x+1 @ 55x @ 25% @ 5x+2 @ 5x+3

B =Bt




23.

o & AL 237 Y 2] Yl gE Sk

@®© (2°)%+22 @ (22)3 x 22

@24X24 @82+82+82+82

@42(22 + 22)

® 42(22 +22) = 2423 = 270|1 D, @, @, D 28 0|22 TIE
Shts otk




24. 3% 43" 4 3¥S 7+AS| YERHE?

©3x+1 @ 33x @ 27x @ 3x+2 @ 3x+3

3x 3% = 3!




25. 8172 — (1

2x-10
3) o uf, x o] g2 Fatolal,

81x—2 — (34)x—2 — 34x—8

1 2x-10
(_) — (3—1)2x—10 — 3—2x+10

3
4x—-8=-2x+10
6x =18

Lx=3




®
5
. -
.
2 )3
1 :1
X

®
blO
+plo
=1

®
5
@y N —
< i
® ) |
z N XS
72 = ) : :
22 1
) i1
20
=1




27.

©
wlen
®
Wit
©
|
w | Tt

S BHESIE 9] 2 FohH?

@ -2

® -1

1+t so7= 1
8 TWT2 —5
34 33x+2x_:i

2

(I8}

opae] 373 Fot

34 33x+2:3
44+3x+2=1
) 5
X ===

3




¥’

@ xb

ﬂ/-

B

Y N

3 © I

™ ¢

~ |

el 0

[aN] < x

RS

T @ -
. ._.

<t

= 2
)

S— -_.
. _ . o Z
<+ = ],
—~
S—




®
28
@
29
©)
210

@
211

®
212

= (28
)5
224
-15
— 29







